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& &t 64.30 121.50




% 5 oAtEE BE 7K T A & g B

5]
4 R A7 (=X g =
LAUHIE
NO. 17 + 6.000 fFyr ~ NO. 20 + 9.000 fiE 64. 3
& F 64. 3




500

5 s HE XK L i 0 = No
i palll LAR 4 8 B =\ B &
m4 0
a7 Y —hk 0.55%0. 45-0. 30%0. 29-0. 370. 11 m3 0.12
) Pe [0.55%2 m2 1.10
520
\ 19300 _ 50 oW M |t=150mm  CEREEEA LR OBAICHNS) m2 | 0.50
€2-B300
H # & t=10mm  10miZ1 % Ff m2 0.01
7 S
S 3 = B |c2-B300 ¥ 2.0
3
- 3
450 50




HE X T i B =

4 L Hi & Lom4 & | 2 K  (n) ® & A IA
2 v 7 U — bk 18-8-25 0.12 64. 3 7.72 m3
il P — TR 1. 10 64. 3 70. 73 m2
% T ¥ | RC-40 t=150 0. 50 64.3 32.15 m2
I H po| TILIAT 0.01 64.3 0. 64 n
=

hix C2-B300 2.00 64. 3 128.6 K




I BE T 72 8 G 5
4 R A7 (=X g
15 7= ke
NO 17 + 6.000 fFyr ~ NO. 20 + 9.000 fiE 64. 3
&t 64. 3




® 5 ieEE b B T it B &= No
fii il 15 4 7= ek 4 g B 2V HAl A& F
m4 Y
27 U— K |1/2%(0. 2%H+0. 90) *H+0. 0679 m3
450
7 e |V (1740, 5%) % (0. 55) +0. 313+0. 55 m2
= = oA |V (%035 %(H-0.30)  (£=200m) m2
O, 215 B OBE M |B=0. 2#H+0. 45+ (1°+0.3%)%0.2  (t=200mm) m2
o G
= = 70
= e\ P USRS |V (1240, 5%) % (H-0. 55) Hhm2
==t g
g £ =t B H #1 # t=10mm  (10m{Z 1~ FF) m2
431 KR4 VP65 (3. 0m*lZ1 4 FT) m




% B A H & OB T 3 B E 15 b 7 st
a7 ) —Fh ) P = o4 M
] SO BE| W m | Pl | %k B | W m | PR | % & W m | PRk | B =
(m) (m2) (m2) (m3) (m) (m) (m2) (m) (m) (m2)

17 + 6. 000 1. 04 2. 04 1. 36
17 + 10.000 4. 00 1.12 1. 080 4. 32 2.15 2. 095 8. 38 1. 46 1.410 5. 64
18 + 0. 000 10. 00 1. 45 1. 285 12. 85 2. 60 2.375 23. 75 1. 88 1. 670 16. 70 2.
19 + 0. 000 20. 00 2.11 1. 780 35. 60 3. 38 2. 990 59. 80 2. 61 2. 245 44, 90 2.8
19 + 9. 785 9. 80 2. 01 2. 060 20. 19 3. 27 3. 325 32. 59 2.51 2. 560 25. 09 2.7
20+ 0. 000 10. 90 1. 82 1. 915 20. 87 3. 04 3. 155 34. 39 2. 30 2. 405 26. 21 2.5
20+ 9. 000 9. 60 1. 82 1. 820 17. 47 3. 04 3. 040 29. 18 2. 30 2. 300 22. 08 2.5

N F 64.30 111.30 188.09 140.62

& i 64.30 111.30 188.09 140.62




w0 BE W s e BE T i A 15§ 7= LR e Mo
RO M HUEHE AR
] Ao |EE BE | W M| CPlim | % =W | PR | % =W m | PRkm | &% &
(m) (m) (m) (m2) (m) (m) (Hhm2) (m) (m) (m2)

17 + 6. 000 0. 98
17 + 10.000 4. 00 1. 00 0. 990 3. 96
18 + 0. 000 10. 00 1. 08 1. 040 10. 40 0. 00 2.
19 + 0. 000 20. 00 1.22 1. 150 23. 00 2.52 1. 260 25.20 2.8
19 + 9. 785 9. 80 1. 20 1.210 11. 86 2. 40 2. 460 24.11 2.7
20 + 0. 000 10. 90 1.16 1. 180 12. 86 0. 00 1. 200 13. 08 2.5
20 + 9. 000 9. 60 1.16 1. 160 11.14 2.5

N 64.30 73.22 62.39 0.00

& & 64.30 73.22 62.39 0.00




% TEE B E I E S
& B (t=4cm) B #& (t=10cm)
OB W @ | FHWE | % E | H O@E | THHE| B =
(m) (m) (m) (m2) (m) (m) (m2)

17 . 000 1.50 1.50
17 . 000 4. 00 1.98 1.740 6.96 1.98 1.740 6.96
18 0. 000 10. 00 4.07 3.025 30.25 4.07 3.025 30.25
19 0. 000 20. 00 4.68 4375 87.50 4.68 4375 87.50
19 9. 785 9. 80 5.92 5.300 51.94 5.92 5.300 51.94
20 0. 000 10. 90 7.54 6.730 73.36 7.54 6.730 73.36
20 9. 000 9. 60 7.60 7.570 72.67 7.60 7.570 72.67
64.30 322.68 322.68
= 64.30 322.68 322.68




